6t" Grade Social Studies — Tic-Tac-Toe Choice Board

You will select 3 questions to answer for recovery. The 3 questions that you select must
be in a vertical ( T ) row or a diagonal (™) () row. You will answer your 3 questions on
a separate sheet of paper and turn this sheet in with your work. Be sure to draw a line
through the 3 questions that you have chosen. This work must be completed and turned
in by November 28" and 29

20 Points 20 Points 20 Points
Why is trade difficult in Which mountain range What was the Great London
Russia? separates Europe from Asia? Smog of 19527

30 Points 30 Points 30 Points
What impact has acid rain had | How does a parliamentary What was the environmental
on Germany? democracy differ from a impact of Chernobyl?

presidential democracy?

50 Points 50 Points 50 Points
Explain what GDP per capita Compare and contrast the What was the purpose of the
is, and how it impacts the three dominant religions of Treaty of Versailles, and how
standard of living in a country. | Europe. did it lead to Hitler’s rise to

power?




